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1.1.1

Bl W fz) = 220K £(0), £(2), F(—2), F(1), £(3).

%
flo)=02=2
fo)=22=0
) =52 =
ry=0=1
12
f3) =47 =1
1.1.2
Bl B o(2) = 252 R 0(2), 9(—2), 0(3), 0(a) — o(b), pla)p(b), £
2

p(2) =277 =1
90(_2) =2"22= 116
p(3)=2"2=V2

a— o a b
pla) —p(b) = 2072 — 202 = 222

_ _ a+b
p(a)p(b) =202 x 2072 = 22

ela) 4 () = 22 = ga-b

) 2b-2

1.1.3

Bl: ¥ F(z) =2 — 3z 4+ 7,5 F(2 4 h), LEHAEE)
%:.

F24+h)=2+h)?-32+h)+7=h*>+h+5
F(2)=22-3x2+7=5
F(2+h)=F(2) _ h?+h+5-5 _
e
1.1.4

Bl: Bap(t) = ta*(a > 0). K 9(0), (1), (e + 1), (6 +1) + 1,1(3), .
&
$(0) =0xa® =0
Y(1)=1xa' =a
Pt +1) = (t+1)a't?
YE+D+1= (t+ 1 +1
¥(3) =
1
t

1
P(t)  tat

~~

a?

|| o=

aft

=

1.1.5

B : e T 21 BRI E S
(Dy=vV3z+4;2)y=vV2+x— 22;
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)
3x+42>0
x2—%
falr > 1
2)
24z —22>0
(x—2)(x+1)<0
—1<x<2

3)

4)
—1<224+1<1
—-1<z<0
{z]| -1 <z <0}
(5)
lz| —z #0
x <0
{z|z < 0}
(6)
2c4+1>0A4—-32>0
—3<z<3
{g] -3 <z <5}
(7)
sin? >0Az#0
0+2km < 7 <m+2ktV 21— 2k < T < —7m — 2kn(k € N)
{x|ﬁ<m<ﬁv—r12k<x<—2+%k,kel\l}
(8)
2>0Az—4%0
{z|z > 0} \ {4}
9)
eF—e T#0
e —1+0
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x#0

R\ {0}
(10)
cosxz >0
—5+2kr <x< 5 +2kmkeN
{z| =% +2kr <2 < 5+ 2kn, k € N}
1.1.6

Bl: IR KA L5 BB £ A Z IR B A MBS = A TR A0 K S 15 34T
FUE A S Z IR R 7 J9 B 50
2t

I IR & B A = L2 KA 7E AR & AT —— e % 5 28
IS WA R R A B AL

Aok PE RO = B0 S A KN a,b, e U a b+ e =1, S8 = p i (e AR S =
Vo= 0—c) = VI —a)(F-b)(a+o—1).

W BT 24 MU — B, o, b B — S5 3 a, b 4T 0 1% R S 7 A
BORE IR LA R B

1.1.7
Bl NI R EOR AR S T4
(W f(z) = L o(x) =1
(2)f(z) = 2lgz; p(z) = lga?
(3)f(2) = 2 pla) =2 —3
(4)f(z) = §z; () = w(arcsinz + arccos x)
s

5 A BR E A e SRR AT,

(1)
R\ {0} R
(2)
{z[z > 0}; R\ {0}
3)
RN {-3}hR
4)
Ri{z| —-1<z <1}
1.1.8

Bl W o(z) = Inz, W p(z) + oz + 1) = [z(z + 1)].
ik
p(z) + oz +1)
=Inz +In(x + 1)
= In[z(x + 1)]

— gl +1)]

4



1.1.9

B EDI f() = 3a® +a"),0> 000 f(z + ) + flz — ) = 20(@) (1)

UE:

Hp

1.1.10
Bl R o(z) = In
E:

St AR T

FIFEAT

Hp

1.1.11
Bl B =AM
=M. AR

e
A DLE 5 A S 5l K 12 8] ) e # &Rk fajfb st T-4514
S = V32
4

S, =8,q"% 5,

Sy 1 _
S, 4 ql
Sy = (%)ni

1.1.12

flz+y)+ flz—y)

— %(am-i-y + afchy) + %(amfy + a7w+y)

_ 1/ x+ —x— T— —x+
= 5@V +a™ "V +a"V +a"M)

2f(=)f(y)

= 3(a" +a ")(a¥ +a7Y)

_ 1/ x+ T— —x+ —x—
=5@"V +a® YV +a " +a7"Y)

flx+y)+ flz—y)=2f(z)f(y)

a+b

i;_ijﬂllj w(a) + ¢(b) = §0<1+ab)'

p(a) + »(b)

1—b
=1In; e TIn17g

_ 1y @)(-b)
(1+a)(1+b)

—1 1+ab—(a+b)
= W T ab+(atd)

(%)

a+b
1+ab

a+b
1+ 1+ab

=1In

1+ab—(a+b)

=In 1+ab+(a+d)

p(a) + p(b) = (L

BN L= M &b i A ERS

HESRIX L = AR

)
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Bl 55 BT A SO A 0] 53 TR oL 49, e BOR 0 1, 0.1, 0,01, -
m = 3.141592653---, e = 2.718281828---

B
o = 3.141592653-- fIIL Bl % 5]
A AT LB
T =3
my = 3.1
Ty = 3.14
T, = 3.141
Ts = 3.1415
Tg = 3.14159
OB Vel
m =4
Ty = 3.2
my = 3.15
T, = 3.142
s = 3.1416
T = 3.14160
+ e = 2.718281828.-- [F T L% 5]
A AL B
e, =2
ey =2.7
es = 2.71
e, = 2.718
es = 2.7182
e = 2.71828
o i A E A
e, =3
ey = 2.8
e3 = 2.72
e, = 2.719
es = 2.7183
eg = 2.71829
1.1.13

Bl WERAT f(z) = ax + b, H {z, } REZEHSIN { f(x,)} HEEEES.
7



vz, =z, +d(n—1)
f(z)=azx+0b
f(xn—i—l) - f(xn) = a(xn—i—l o xn) = ad
f(z,) = f(xy)+ad(n—1)=azx; + b+ ad(n—1)

1.1.14
B AEHTE {a, Y HELES), H a, > 0,0 {Ina, } 5255

e

= .

F Ay = a’lqn_laq >0

~Ina,, , —Ina, =In ”“ =lIngqg
1.2 PUREBHR M RA R
1.2.1

Bl IR AR f(2) 5 o(x) fEEUEE AR S NBREL f(x) + o(2), f(z) — ¢(x), f(z)e(x) TEEUE
AF 5.

%
Vo e A,3M > 0,|f(x)], [p(z)] < M
= [f(2) + ()] < [f(2)] + [p(2)] <2M
[f(z) = ()| < |f(@)] + ] = p(z)] <2M
[f(@)e(@)] = [f(z)]e(x)| < M>
1.2.2

Bl WKL f(x) 5 g(x) A MR E S IEM:

D#F f(z) 5 g(z) BAEBREN f(z)g(x) Bk

2) 45 f(x) 5 g(x) BINTFERELN f(2)g(x) NIHEREL

3) & f(x) 5 g(x) A NATREL— A NERELN f(2)g(z) NETHREL

flx

< fl@) = f(=2),9(z) = g(~2)
~ f(x)g(z) = f(—x)g9(—=x)

v f(z) = —f(—x),9(x) = —g(—x)
~ f(x)g(z) = f(—x)g9(—x)

v f(x) = —f(—2),9(z) = g(—z)
~ f(z)g(z) = —f(—z)g9(—=)
1.2.3
B E AT R f (2) B8 SO R F (2) = f(z) + f(—2) RIEREG K (2) = f(z) — f(—2)
A F R I EHERE f(z) =a® 5 f(z) = 1+ 2)" 1 F(z) 5 E(z).

7
F(—z) = f(—2) + f(z) = F(z)
7



f(z) = a”
F(z)=a"+a™"
B(r) =a® —a™”
f(@) = (1+x)
F)=00+2)"+(1-2)"
K@) =Q1+2)" - (1-2)"
1.2.4

B 45 T 51 bR TR A S T R 2R G 1 R
)z + 323 + 2°;2)2? — 3z* + 2°; 3)z + sin x;

4)z sin 1;5)z? sin =; )ln(x +V1+ w2)

—x, z2—1. et+e ®
7)In 122, 8)27 1, g)ete -

03

—z + 3(—z)3 + (—)° = —(x + 323 + 2°)
(—2)? = 3(—z)* + (—2)% = 22 — 321 + 25
—z +sin(—z) = —(z +sinx)
—rsin L ::csin%

(—z)%sin _im = —z%sinl

In(—o+ VIF (=08) =l —t— = — (s + VI ¥ 22)

17
Tr(—z) =—In{72

2(—1:)2—1 — 29:2—1

e—m+6—(—a:) _ e%T4e®
3 =

1.2.5
Bl IEB R f(z) = LAEIXTH] (0,1) TG 7

Y

ARy =1
JeRVO<z<l, flz)>1

Ve> 0,3z, = 5, flz) =e+1>1
Va>0,§|xa:a%rl,f(a:a):a+1>a
1.2.6

B T 51 b BT L S il 30 R K, A R/ IE R A S R /N AR .
1)y = sin? z; 2)y = sin 2?; 3)y = sin(wz + ¢)(w > 0);

4)y = cosbrx; 5)y = v/tanz; 6)y = D(x);

7)y =sinz + 3 sin2z;8)y =sin Z + sin €.

03



sin?(z + kn) = (—1)%)sin?z,l =7

2)
sin(z +1)? = sin2?, 2lx + 12 = 2k7w,1 = 0
3)
sin(w(z + 1) + @) = sin(wz + ¢), wl = 2km, | = 2Z
4)
2
l: g
5)
l=m
6)
=2
q
7)
sin(z +1) + 1sin2(z 4+ 1) = sinz + 1 sin2z,l = 27
8)
SinzTH —l—sin%l =sin 5 +sing,l =207
1.2.7

B UEB T RREL f () 2 DA T O JE 3 A e B 0 ek 2 F () = f(ax) 2 RA Z(a > 0) A A
J& B BR EL
2

“fle+T) = f(z)
S F(e+T) = f(afx + 1)) = f(ar) = Flz)

a

1.2.8
B UERA: AL f(2) FEIXTE] T B <= Vo, 29,23 € 1,77 < 29 < 23,0
[f(z3) — f(@)][f(z2) — f(z1)] = 0.
YLy > Ty > Ty
=~ fmg) = f(@g) = f(@1)(f(2g) < flz) < flaq))
f(zg) — f(@g) 20, f(zg) — f(z1) 2 0(f(z3) — flzz) <0, f(z3) — f(z1) <0)
[f(z3) — f(@)][f(z2) — f(z1)] 2 0

2

1.2.9

Bl SRS O R BB B B
1) 75 R P 4 /b 123 56 5
2) 75 RH- R 0 15 56 4L
3)7E RS JAIE B L7 7E IR X 4,
O)7E REAHE. MR PREE. R



y=20
1.2.10
B UE B AE RANEAE ™A% 550 ) 18 2R 2
%
w f(z) = f(—=)
2 VEy <0<z, @ ==y, f(71) = fl2y)
1.2.11
B: FUF0F LT B 8 S A 5 AUR
1) f(z) £ RZMH R AL,
2) f(z) 7£ R 2 JH B R 2L
3) f () 75 R A& ™ R 8 11 R 4
4) f(z) ££ R 2 5 el eR 2.
%
5 X B
vz € R, f(z) = f(—=) Jzg € R, f(zo) # f(—20)
VeeR,3 >0, f(z+1) = fx) Vi> 0,3z, €R, f(zyg+ 1) # fzg)
Vo, 2y €R @y <@y A flxy) < f(mg) | Foy 25 Rz <y A fla) 2 f(2)
Vo, zy € R,z <z A f(1) 2 f(2y) Jzy, 25 € R, @y <@y A f(w1) < fly)
1.2.12

Bl B f(x) = 2 — o fE RAS A 0 20 AN 2 S 300 R B0, A2 ™ K 1800 o 280, 1 A 7 0 1R il 2>
Z
f)=0#f(-1) =2
if flx+1) = f(z
(z+0)2—(z+1)=2%—=x
P+Q2x—11=0
only trivial solution [ =0
f)=0<f(-1)=2
f)=0<7f(2) =
1.2.13
B UL AR XA (=1, 1) 475 SRR R AL f (z) BRRER R 07 R AL e B A

%:.
flz) = f(w)+2f(—m) + f(w)—2f(—w)

10



1.2.14

B R AT R f(2) A g(x) BB 8 UAE AR RS A2 T 5 T, H % = a,ll ar&
HEELI f(2) 4+ g(2) 5 f(x)g(x) &R ARIE AR %L
7

T:
T =a=%pgeEN,

flx)+g(z) = flx+qT7) + g(z +pT,) = f(x +T) + gz +T)
f(@)g(x) = f(x +qTy)g(x + pTy) = f(x +T)g(z + T)
T =qT) = pT,

11
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